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ECONOMICS 8$SC-I
SECTION — A (Marks 15)

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes amd handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/D. Each part carrles one mark.

(i Tribal concept of occupational division of labour was created in the of evolution of economic
[ife.
A Pastoral stage B. Agricultural and handicraft stage
C. Hunting and gathering stage D. industrial stage
(i) The use of fans in hot weather comes under:
A Luxuries B. Comforts C. Necessities D. Wants
(il Robins’ definition of economics is related to:
A. Material welfare B. Non material things
C. Acquiring wealth D. Scarcity of means
(iv) is the second basic factor of production:
A Labour B. Capital C. Land D. Entrepreneur
(v) in Economics the kinds of wants are:
A Five B. Four
C. Two D. Six
(vi) is aggregate of all incomes actually received by all individuals and households during one
year.
A National income B. Personal income
C. Disposable personal income D. Gross domestic product
(vil) in a country, consumption of wealth depends upon the level of.
A Saving B. Investment C. Income D. Interest
(viiiy  With an increase in the price of a good, its substitutes will have:
A. A fall in its price B An increase in its price
C. An increase in its demand D. A decrease in its demand
(ix) Which of the following factors do not change the supply of computers:
A. Cost of production B. Poiitical system of a country
C. Climatic conditions D. Leve! of income
(%) Government buildings and roads are:
A. Land B. Public wealth C. National Wealth D. Individual wealth
(xi) Demand curve always has:
A. Negative trend B. Positive trend C. Vertical trend D. Horizontal trend
(xii)  In socialism the following is NOT the objective of production:
A. To serve the people 8. Charity
C. To earn profit D. Weifare of the people
(xiii)  In any country, investment depends upon:
A, Weather conditions B. Business condition
C. National savings D. Consumption

(xiv)  Mr. Ashraf and his friends want to buy air conditioners, but they have no money to buy. After sometime
they are promoted to higher grades, but the prices of air conditioners have also increased. In this situation
the demand of air conditioners will be:

A, Decreased B. Increased C. Change D. Remains unchanged

(xv)  Production in industries primarily depends on:
A Labour B. Capital C. Organizer D. Land
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ECONOMICS SSC-I 5

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Answer any twelve parts from Section ‘B’ and any thwee questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION - B (Marip 36)
Q.2 Answer any TWELVE parts. The answer to each part should not exceed 3 to 4 lines. {12x3=36)

() What is meant by GDP?

(ii) Write down the concept of Equilibrium.

(iii) Write any three characteristics of wants.

(iv) What is meant by Capitalism?

(v) Define the concept of utility.

(i) Write down the definition of economics by Alfred Marshall.

(vii) Write any three factors other than the price of commedity which affects its demand.
(viii) Differentiate stock and supply with an example.

(ix) Construct & demand schedule.

(x) Which factors create value in a commodity?

(xi) Write the importance of an organiser in the production.

(xii) What is the difference between Net Rent and Gross Rent?

(xiil) Write three important features of Robbin’s definition.

(xiv)  What is meant by Investment?

(xv) What is the difference between ‘Economic Wants’ and ‘Non-economic Wants'?

(xvi)  Why was man forced to live near rivers in pastoral stage?

(xvii)  Describe ‘Accidental Profit"
(xvil)  What is the difference between Personal income and National income?
SECTION-C 24
Note: Attempt any THREE questions. All questions carry equal marks. (3 x8=24)

Q.3  Whatis the nature of economic problems? How can we solve these problems?
Q.4 What was the role of Agriculture and Handicraft stage in the evolution of economic life?

Q.5 State and explain the Law of Supply with the help of schedule and a curve.

Q.6  Whatis land? Explain land, as an agent of production and discuss its characteristics in detail.
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